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1.

SOCIAL WORK

Paper -l

Which among the following is the correct
formula for the calculation of gratuity ?

Average monthly wage x15
26

Average monthly wage x15
30

Average monthly wage x15
31

Average monthly wage x15
28

Arrange items by a sequence as per the
year of enactment in asending order

(@) Workman’s Compensation Act

(b) Maternity Benefit Act

(c) The Employee State Insurance Act
(d) The Equal Remuneration Act

(A) (a), (b), (c), (d)
(B)

(©)

(D)

. Who was the Chairman of the First

National Commission on Labour ?
(A) Gajendra Gadkar

(B)

(C) V.V. Giri
(D)

D) Jagjevan Ram

Ravindra Verma

1. reaged 83,096 59 Gon 736" 08 o8 558 ?

D008 OO D50 X 15
26
T8 DODO D50 x 15
(B) 30

D008 RORDO D50 X 15
31

D000 DO Do X 15
28
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4. Name the Actin which housing is included
as a statutory welfare measure
(A) The Factories Act, 1948
(B) The Mines Act, 1952
(C) The Plantation Act, 1951
(D) The Dock Workers (Safety, Health and
Welfare) Act, 1986

5. Match the Labour Legislation with the year
of their enactment
(@) The Employees
Providend Fund
and Miscellaneous
Provisions Act

(b) The Contract
Labour (Regulation
and Abolition) Act

(c) The Payment of (iii) 1936

(i) 1970

(i) 1952

Bonus Act
(d) The Paymentof (iv) 1965

Wages Act

@ @G (( @
(A) (v) i) @) ()
B) (i) @)  (v) (i)
(C) (v) (i) () (i)
(D) ()  (v) () (i)

6. Matters contained in the Second
Schedule of the Industrial Disputes Act,
1947, should be referred to which one of
the following authorities ?

(A) National Tribunal
(B) Labour Court

(C) Arbitration

(D) Board of Conciliation

4. 52200 Hepod® D 60 Ay BHAD TR0
HOSITOFOT FPoCIVBIHD ?
(A) Soryroro $¢0, 1948
(B) oo g0, 1952
(C) e $¢0, 1951
(D) 35 570800 (YIS, 66Ky ©og50)
5630, 1986

5. 53300 BeTorn T BeTeorr B0 SokTes’
EaTweyeteh

(a) eSyooadsd (i) 1970
5080500 3BS DRI
{ﬁego
(b) stoer§ o0 (i) 1952
(VoXoEses 5000w
QET) 29630
(0) &R w0 (i) 1936
(d) e e0 (iv) 1965

@ @® (@
(v) (i) (i) ()
@i 0 @v) (i)
(v) (i) @) (i)
@i Gv) @) (i)

(A)
(B)
(C)
(D)
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7.

10.

11.

12.

Which one of the following is a statutory
provision ?

(A) Personnel Officer

(B) Welfare Officer

(C) Industrial Relations Officer

(D) Industrial Social Worker

Who propounded the theory ‘X’ and theory
Y ?

(A) McGregor

(B) Herzberg

(C) Maslow

(D) Elton Mayo

Which one of the following Labour Laws
is enacted by the Central Government and
enforced by the State Governments ?

(A) The Factories Act, 1948

(B) The Equal Remuneration Act, 1976
(C) The Mines Act, 1952

(D) The Minimum Wages Act, 1948

Who propounded the
Management by objectives ?
(A) Peter Drucker

(B) Abraham Maslow

(C) Herzberg

(D) McGregor

theory of

Which one of the following is not an organ
of United Nations Organisation ?

(A) WHO

(B) UNICEF

(C) ILO

(D) UNESCO

Kinesics pertains to
(A) Body movements
(B) Eye contact

(C) Facial expression
(D) Touch

10.

11.

12.

5+ 1800 TOE JDH 19630 T
EPPoR0WRICTTE 2
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(B) S5 eshridnch

(C) 30320308 682, espiob
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X’ 5000 Y’ 2eTom) J56H HITOTE ?
(A) 2050%0
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(C) =

(D) 293 30035"

5+ (300 BeTod” D Bed) Sols Bebigow Heor
Doed, TP HE0Eiosd eoe HoeciEod
(A) §U°&TT°U°® ¥&0, 1948

(B) 55575 2% %0, 1976
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(D) 525280 He0, 1948
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13.

14.

15.

16.

17.

The words ‘set-on’ and ‘set-off’ are related
to
(A) The Payment of Bonus Act
(B) The Payment of Wages Act
(C) The Payment of Gratuity Act
(D) The Minimum Wages Act
Section 49 of the Factories Act provides
for
(A) Canteen
(B) Creche
(C) Appointment of Welfare Officer
(D) Appointment of Safety Officer
The E.S.I. Act provides for the following
benefits
a. Medical benefit
b. Leave benefit
c. Disablement benefit
d. Dependents benefit
(A) a,bandc
(B) a,candd
(C) b,candd
(D) a,bandd
The 18t Medical Social Worker was
appointed in J.J. Hospital, Mumbai in
(A) 1957
(B) 1947
(C) 1967
(D) 1977
The Hyderabad State integrated curative
and preventive health services by
amalgamating Medical and Public Health
Departments in the year
(A) 1953 (B) 1952
(C) 1951 (D) 1950

13.

14.

15.

16.

17.

2065 €55 000 0ed e ey BB S
808 Beod” DAL Ho20RoHd
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(B) 5280 eo
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18.

19.

20.

21,

Delusion is a

(A) Perceptual Disorder
(B) Mood Disorder

(C) Thought Disorder

(D) Disorder of Orientation

The social work intervention or drug abuse

that is not based on the theoretical

foundation is

(A) The early Psychological/Medical
model focussing on the individual

(B) The Public Health Model which
focuses on the environment

(C) An eclectic multi causal approach

(D) The Family model

Schizophreno-genic mother is

(A) Over-protecting and affectionate

(B) Caring and concerned

(C) Strict disciplinarian

(D) Severely rejecting, domineering and
anxious

One of the following stakeholders is not

involved in community based

rehabilitation of mentally retarded

(A) Families of mentally retarded persons
and community

(B) Government and non-governmental
organisations

(C) Funding organisations

(D) Institutions meant for mentally
retarded persons

18.

19.

20.

21,

awgﬁgs O

(A) $00D5S Gerggtd

(B) %058 Goerrd

(C) @5 cerisso

(D) £.80500635550 H0RI0RODD CeSd

DI (e ot Ko 708 1 DD
D3 SO T, €5500W DTros FIS05EIS
T8

(A) 3558 205 BoB5B0Ws ereEs™ BIHRE/ eSS
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(C) G s°Teme0 e95selpo Do G DTy
DT 9300008 AT%R0
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22.

23.

24,

25.

The Phenomenon wherein certain
individuals never mature beyond a certain
point of Psychosocial development and
are unable, in many ways to mature further
is called

(A) Maturational regression

(B) Underdevelopment
(C)

(D)

Fixation
Socialisation

Modelling implies

(A) The client is guided by the worker
verbally to bring about change in his
behaviour

(B) Worker takes the total responsibility to
solve the problem

(C) The client observes the worker and
learns communication and behaviour

(D) The client by himself works for change

Dyslexia in children is a

(A) Developmental arithmetic disorder
(B) Developmental reading disorder
(C) Developmental writing disorder

(D) Developmental articulation disorder

One of the following therapeutic measures
is not applicable in case of a child treated
at the child guidance clinic

(A) Suggestions and Persuasion
(B)
(C)
(D) Electric Shock Therapy

Re-education
Psychoanalysis

22.

23.

24,

25.

Socsts Sge0 SrEbE ©f, FoinESeos®
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(C) 55,80 ¥0300D, &S BITB0 IS
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26. Arrange the following steps in a sequence
to be followed by a medical, social worker
while conducting an interview with the
patient, the medical social worker

() Recall
Recording
Establishing rapport

)
)
(IV) Collecting family details
) Probing questions

)

(Vl) Encouragement and guidance
during interview

(A) (1), (IV), (1), (V), (V1), (I1)

(B) (IV), (1), (V), (VI), (1), (111)

(C) (1), (1), (), (V), (IV), (V)

(D) (VI), (V), (IV), (1), (1), (1)

27. Arrange the following stages of
intervention for an alcoholic patient in the
correct sequence:

() Behaviour Therapy

(I Emotional support by the team
(I Dealing with resistance
(IV) Insistence on abstinence
(V) Assessment of motivation
(V1) Involvement of the family
(A) (D, (), (1), V1), (V), (IV)
(B) (VI), (V), (), (1V), (1), (11)
(C) (), (1V), (V), (VI), (1), (1)
(D) (1), (1), (1), (V), (IV), (V)

26. SR 30eET5y DOV BBOROOVDOVD
DT508° Ko 907T0R0 (§5008° 60506
() &5
(I) &s°0oh
() $5)8 DTB00008 HDODOTY DTZEN
D80
(IV) o 5T°e 0568
(V) 860 @3puco
(V1) moeassgg estormss @Famyeroiico
Q00000 AGEGEoNT &0letio
1), (1V), (1), (V). (VI), (1)
IV), (1), (V), (VI), (1), (l1T)
), (1D, (1), (V), (IV), (VI)
Vi), (V), (IV), (1), (1), (1)

A
B
C
D

) (
) (
) (
) (

27. @08 eI €900 NS Dolbo PG, D8,

S0 DES 55050 28 HED (§5008° @raHod

(1) 5700306 B
() D8 edso o), TS B3]
() B30 Bhowcso

(IV) @ 570308 $AE Dakeso
(V) BhoweETrod (e $OR eociio
(V) Soeoerd) D8y dgwsos” FrSaer

dadeso

(A) (1), (1), (1), (V1), (V), (IV)

(B) (VI), (V), (1), (1V), (1), (11)

(C) (1), (IV), (V), (1), (1), (1)

(D) (1), (1), (1), (V), (1v), (VI)
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Answer the Questions No. 28 to 30 by reading
the following paragraph.

The School and Education System :

Going to school for the first time is the first long
separation from the parents. Till now the
child’s world was his home and his parents.
School for him is different from home and a
new experience and requires adjustment.
Going to school is a critical period to make an
adjustment. A child who comes from a well
adjusted family is able to make a good
adjustment. Scholastic backwardness is often
caused by unhealthy pupil-teacher
relationship. The teacher is identified a parent
substitute . Thus a teacher is liked or disliked
basing on the relationship with the parents.
The child avoids attending classes and out of
sheer fear is unable to grasp anything in the
class. The teacher because of his
identification with the child may show
excessive interest and make him dependent.
Sometimes teacher’s remarks very seriously
and gives up studies.

28. Child experiences problems of adjustment

in the school as

(A) the child is not interested in studies

(B) the child is not interested in teacher

(C) parent is not willing to send the child
to school

(D) the child finds it difficult to leave the
secure atmosphere of home

29. The child who can adjust well in the school

are from the families

(A) Where there is maximum control

(B) Where parents take maximum care

(C) Where all emotional needs are
satisfied

(D) Where maximum physical and
material comfort is available

Eob TFgrmdy IOJ 28 Joock 30 (DT
SIS 5000 EPOT0500.

Qo720 — QT VTR0
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255@?36;633 &0e00A. éd{gwe&o e°rOR) E0€00.00 00w
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30.

31.

32.

33.

34.

The child’s liking or dislikings for a teacher
depend on

(A) Teacher’s teaching ability in the class
(B) Peer group’s attitude to teacher

(C) Pupil-teacher relationship

(D) Parental attitude

Panchayat Raj System was recommended
by the Committee headed by

(A) S. K. Dey

(B) Balwant Ray Mehata

(C) G.K.V.Rao

(D) Ashok Mehta

Which one of the following is not included
in the definition of ‘town’ for purposes of
census operations ?

(A) Statutory towns

(B) Census towns

(C) Outgrowths

(D) Unauthorised slums

Which of the following is envisaged in the

Constitution (74" Amendment) Act, 1992 ?

(A) Constitution and Composition of
Panchayat Raj System

(B) Development of Urban Slums

(C) Constitution and Composition of
Municipality

(D) Bureaucratic system

The main objective of Mahatma Gandhi

National Rural Employment Guarantee

Act (MGNREGA) 2005 is to

(A) Generate productive assets

(B) Provide 100 days employment in a
financial year

(C) Improve skills

(D) Stop migration

30.

31.

32.

33.

34.
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35.

36.

37.

38.

Which of the following is not the approach
and orientation of grassroot NGO’s ?

(A) Development

(B)
(C)
(D)

Social Action
Empowerment

Entrepreneurship

The primary unit of Panchayat Raj

Institution is

(A) Gram Panchayat
(B) Village Sabha
(C)

(D) Village Officer

Sarpanch

The highest number of Scheduled Tribes
recorded in India is in

(A) Chhatisgarh

(B) Madhya Pradesh
(C) Arunachal Pradesh
(D)

D) Daman and Diu

The major social work methods used by

social workers for community development

are

(A) Social action, community organization

(B) Case work, group work and
community organization

(C) Social work research, social welfare
administration and group work

(D) Social action and social work research

35.

36.

37.

38.
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39.

40.

41.

Assertion (A) : The Human Development
Index (HDI) is a
comparative measure of
life expectancy, literacy
and income for countries
worldwide.

HDI is not used to
distinguish whether the
country is developed or
developing or an
underdeveloped.

Reason (R) :

Choose your answer from the following :

(A) (A)is false, but (R) is true

(B) (A) is true, but (R) is false

(C) Both (A) and (R) are wrong

(D) Both (A) and (R) are true and (R) is
the correct explanation of (A)

As per the 2011 Census the urban
population constitutes per
cent of the Indian population.
(A) 27.7 (B) 31.8
(C) 25.5 (D) 40.2

Which of the following projects are
forerunners of the Community
Developments Approach in India ?

a. Eatawah Project

b. Nilokheri Project

c. Martandam Project

d. Sriniketan Project

Choose the correct sequence from the
following :

(A) a,b,dandc

(B) a,b,candd
(C) a,c,dand b
(D) b,c,dand a

39.

40.
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42.

43.

44,

45.

46.

47.

Name of the Journal published by
National Institute of Rural Development
(A) Rural Development

(B) Kurukshetra

(C) Yojana

(D) Social Science

In which year DIWACRA was introduced ?
(A) 1982 (B) 1993

(C) 1984 (D) 1995

On which of the First Five Year Plan
focussed on ?

(A) Industry

(B) Agriculture

(C) Tribal Welfare

(D) Urbanization

“Power to People” was written by

(A) S. K. Dey

(B) V.T. Krishnamachary

(C) P. L. Brayone

(D) R. N. Tagore

Studies on single parent families do not
focus on

(A) Companions to the parent

(B) Children

(C) Kins

(D) Children’s education

Assertion (A) : In India the sex ratio for

children in the age group

of 0-6 years is not
favourable to the girl
child.

Reason (R) : Biological factors are
responsible for the
skewed sex ratio.
A) ‘A’ is correct, but ‘R’ is wrong
) Both ‘A’ and ‘R’ are wrong
A’ is wrong, but ‘R’ is correct

(
(B
(€)°

(D) Both ‘A’ and ‘R’ are correct
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48.

49.

50.

51.

52.

Neo-natal stage means

(A) Child who is four weeks after birth

(B) Child who is two weeks after birth

(C) Child who is above 6 months after
birth, but below 12 months

(D) Child who is above 4 months after
birth, but below 12 months

In which year the Government of India
ratified CEDWA ?

(A) 1975 (B) 1993

(C) 1979 (D) 1989

In which year the Universal Immunization
Programme was started ?

(A) 1989 (B) 1995

(C) 1936 (D) 1979

Arrange the following International
initiatives relating to women in ascending
order

() World Conference on Women —
Copen Hagen

() Mexico Plan of Action
(I Beijing Declaration

)
)
(IV) Nairobi Forward Looking Strategies
(A) (1), (1), (1v), (1)

(B) (1), (i), (v), (I

(©)

(D)

( )
C) (Iv), (i), (1n), (1)
D) (1), (1), (1), (1IV)
As per the 2011 Census, the sex ratio
(number of females per 1000 males) is
(A) 927 (B) 933
(C) 940 (D) 945

48.

49.

50.

51.

52.
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53.

54.

55.

Who propounded ‘role bargaining’ theory ?
(A) William J. Goode

(B) Murdock

(C) Talcott Parsons

(D) Lion and Tiger

One of the following gives us ascribed
status. Specify which one.

(A) Family of Procreation

(B) Family of Orientation

(C) Nuclear family

(D) Joint family

Match the following legislations with the
year of enactment :

List -1 List—1I

(@) The Child Marriage (i) 1986
Restraint Act

(b) The Juvenile (i) 1956
Justice Act
(c) The Hindu (iii) 1929
Adoption and
Maintenance Act
(d) The Right of (iv) 2009
Children to Free
and Compulsory Act
Codes:
@ ® ( (@
(A @) (i) (i) (iv)
B) (i) @) (i) (iv)
(C) (v) (i) (i) (i
(D) (i) () (ii) (iv)
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56.

57.

58.

59.

60.

61.

According to 2011 Census, the literacy
rate for women stands at

(A) 62 % (B) 65.4 %

(C) 58 % (D) 87 %

Which Indian State has the lowest female
sex ratio ?

(A) Haryana

(B) Punjab

(C) Andhra Pradesh

(D) Rajasthan

One of the following is a Marxist family
theorist

(A) Talcott Parsons

(B) Murdock

(C) David Cooper

(D) W.J. Goode

A child in need of care and protection shall
be produced before the following

(A) Child Welfare Committee

(B) Juvenile Justice Board

(C) Child Line

(D) Women and Child Welfare Dept.

Which year was observed as the
International Year of Women ?
(A) 1970 (B) 1975
(C) 1980 (D) 1985

What is meant by ‘Secondary Deviance’ ?

(A) Deviant behaviour exhibited by
children of criminals

(B) Deviant behaviour shown by wives of
criminals

(C) Deviant behaviour exhibited by
victims of crimes who are not given
justice

(D) Deviant behaviour that results from
being publicly labelled as deviant

56

57.

58.

59.

60.
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62.

63.

64.

Rigorous imprisonment involves
sentences with

(A) Life imprisonment

(B) Imprisonment with physical labour
(C) Short term imprisonment

( with

D) Imprisonment corporal

punishment

Match the following persons with their
work :

() Gabriel Tarde

() Frank
Tannenbaum

(@) Labelling theory

(b) Law of Imitation

(I Edwin Lemert (c) Differential

Association
Theory
(IV) Edwin (d) Secondary
Sutherland Deviance
(A) 1-d, Ill-a, Mll-b, IV-c
B) I-b, ll-a, 1ll-¢c, IV-d
(© 1-d, ll-b, ll-a, IV-c
(D) I-¢, H-d, ll-b, IV-a

Albert K. Cohen

crime arose from

(A) Too much focus on individual
aspirations

(B) A reaction due to their failure to meet
middle class standards

assumed that juvenile

(C) Differential social association
(D) Weak social control unable to
constrain delinquency
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65. Which among the following is the most
appropriate perception of alcoholism ?
() Crime
() Disease
(I Financial loss
(IV) Cause for crime
(A) lis correct
(B) Ilis correct
(C) Mand IV are correct
(D) land Il are correct
66. Assertion (A) : The theory developed by
Donald Cressy is an
excellent instrument
helpful to explain
violations of financial
trust.

Reason (R): This theory involved
learning behaviour and
an explanation that crime
is learnt from others
through a process of
learning.

A) Both ‘A’ and ‘R’ are correct

B) Both ‘A’ and ‘R’ are wrong

C) ‘A’ is correct, but ‘R’ is wrong

D) ‘A’ is wrong, but ‘R’ is correct

(
(
(
(

67. The classical theory believed that

can prevent people from committing crime.
(A) Punishment

(B) Reformation
(C) Counselling
(D) Good judiciary
68. Name the Italian doctor who worked in the
late 19" century, who is also regarded as
the father of Criminology.

(A) Cesare Lombroso

(B) Charles Darwin

(C) Enrico Ferri

(D) Cesare Beccaria
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69.

70.

71.

Crime is best defined as

(A) Rebellion to established sentiments of
society

(B) Behaviour that attracts penal action

(C) Negotiated interaction in times of a
crisis

(D) Behaviour that is unacceptable to
society

Which among the following U.N.

instruments has no direct relevance to

prison administration ?

(A) UNCRC

(B) UN standard minimum rules for
treatment of prisoners

(C) UN basic principles for the treatment
of prisoners

(D) UN Universal Declaration of Human
Rights

Arrange the following research steps
construction of tool in the order in which
they are executed in criminology research
() Focused attitude and opinion scales

(In
(1)
)

(IV) Broad awareness and general

Screening questions
Most focused questions and scales

questions

(v), (), (1, (n
(1), (), (i), (1IvV
(), (), (), (v
(1D, (v), (1), (in

A
B
C

(
(
(
(D

) )
) )
) )
) )
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Read the passage below and answer the
questions that follow based on your
understanding of the passage :

Barring extreme cases of psychopathology,
there is not much psychological difference
between criminals and non criminals. Defining
any bahaviour as crime is more a socio-political
decision exercised by the state. For example, if
dry law is enforced in a particular place, drinking
which was perfectly legal till such law was
enforced becomes a crime, although there is
precious little psychological difference among
those who drink and those who do not drink.
Absolute prevention of crime is a myth. So long
as there are criminal laws, there would at least
be a few of those who would violate them. There
is no society known to man which could claim
cent percent crime prevention. It is a fact that for
a given number of people, a certain number of
crimes would occur, and that could be
considered as a ‘normal’ or an ‘acceptable’
phenomenon. One estimate is that about 1300
assorted crimes would occur annually for every
one lakh population. Another estimate is that at
least 10 % of the population will indulge in crime.
In the current context, crime prevention refersto :

1) Forestalling any criminal behaviour,

2) Reduction of frequency of any particular
type of crime and

3) Preventing repetition of crimes by known
offenders.

The subject of crime prevention has received
comparatively very little attention. Some basic
concepts in crime prevention are the following :

1) Crime prevention is practically
synonymous with the promotion of healthy
personality development and positive
values among all;
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2) Crime prevention means reaching out to

potential delinquents (high risk categories)
before they get into trouble ; and

3) Reducing recidivism by working amongst

72.

73.

74.

75.

identified law-breakers (who are called
convicted criminals) and reforming them.

Who defines criminal behaviour ?

(A) The political parties and leaders
(B) Sociologists and social scientists
(C) Influential members of the society
(D) The political state

Why is absolute crime prevention

considered as a myth ?

(A) Because a few people will invariably
violate laws

(B) Because the state is not so efficient to
prevent all crimes

(C) Because all criminal laws are not fool
proof

(D) Because the state encourages some
forms of crimes

What is considered as a ‘normal’ or an

‘acceptable’ phenomenon ?

(A) That a majority of people would
commit a certain number of crimes

(B) That a certain number of crimes would
occur for a given number of people

(C) That certain types of crimes would
invariably occur

(D) That a good number of people would
commit certain types of crimes

What is not considered as crime

prevention ?

(A) Promotion of healthy personality
development and positive values

(B) Reaching out to potential delinquents

(C) Working amongst convicted law-
breakers

(D) Elimination of potential criminals to
prevent recurrence of crimes
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Space for Rough Work
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